WD TIVRID'T YR YR naw naoon MIA AT TINHH 1y B

2.19.6
135b (17aw7 82217) 21370 (151 59 025 507)

o, 22723 2R M) DTVY UTPN YR D9RY NURN GDI WA 19N YN 130 1IN

1,25 877719 YR 1279 DXV NRYDY POYD DM AR NNR D0 NYIY WM 127 92 19 IR 2P IR Y
b2, NP1 3T9T) TY RRD? ANYI93 YN NP3KD D37 KD TYR NODAN 1A M2 79)

2,12%777:9TPN YRU3 A0 YPY DWHN T MM MY DUV 13 T MY D1IVY 130 180 W M

7, 0719 YOV T27Y 1701 RID N2R) DR)
2, pwX12:931 99 D27 SINN PINR TV P2 DYDY 02 1INYUN YR N2 NRE

I 27w7’s dictum regarding minimal living time for people and animals to prove that they aren’t Y91
a.  Time frame: for people — 30 days (v.1); for animals — 8 days (v. 2)
i Implication: before that time, child is pao
ii. Challenge: if so, how do we violate naw to perform n%n?
1. Answer (8”an7): either way it is 1mn; if he is a 'n, valid n%n; if not — just “cutting meat” — no naw Non
2. Challenge: ruling that a baby who is pao 7 or 8 month gestation is not 517 on naw
a. But: we should employ same reasoning of 7wa1 nnn and allow it
b. Answer (832277 7772 10): "0 is allowed on naw; ruling prohibits n%n »Pwan (for 1Yo "1 only)

iii. »ax: the issue of whether a %91 is considered nn (8”ax) is a dispute among wRin
1.  am73x2 v. 3 extends to include an animal who had only 8 months gestations (011 even with no'nw)
i w7aNT 771772 93 or 7. the VMW is InVN it so that it isn’t nY213 RVN

1. Assumption: dispute is whether a 591 (8-month in noa "nn1) is *n or nn
a. Block (¥27): then let them argue whether it may be eaten (which no one suggests)

2. Rather: they agree that it is a nn; disagreement whether no'nw can “save” %91 from n%21 RNV
a.  N71 77 just like NaMv; NVNY saves it from nY2) NRMY
b. 237 dissimilar — a n9»v had a time at which it was edible (unlike n1nw j2)

i. And: even a N0 from birth —its type is edible; but no n»nw jais edible
b.  Question: do 1311 disagree with 13"aw1 (allowing a nnna slaughtered before 8™ day)? If so, which is nabn?
i Suggested proof: ’n»12 — if a calf is born on vV, it may be slaughtered that day
1. Block: that is a case where the owner knows that it was full-term

ii. Suggested proof: "1 N "1 agree that if 71131 is born on v with a o, it is considered 13m0 10
1. Block: that is also a case where the owner knows that it was full-term
iii. Proof: 981w ruled in accord with »"aw1 (implication — they disagree with him)

II.  »ax: all agree that if a baby (less than 30 days) fell off a roof or was eaten by a lion — that he is considered (retro-)n

a. Disagreement: if he yawned and died (3”aw7 - proves he was never ’n; 1111 disagree)

i. Impact of dispute: to exempt the mother from o2 (if husband had no other children and then died)
b.  Challenge (to »aN'’s report of consensus): »*11 712 N1 and 9" came to home of X”ar’s son
i. And: he had prepared a fat calf on its 7t day — they wouldn’t eat it (had he only waited until nightfall...)
ii. Rather: read that all agree that if the baby yawns and dies — consensus that it is a nn
1. Dispute: is in case it dies in accident (e.g. fall from roof) — whether we consider it to have been m

c.  Stories: mnaon mourned for children who died during first 30 days, arguing that they knew them to be full-term
II. Related inquiry: if a baby of a widow died before nv 'y (no other children) and she accepted pwyTp

a.  ~N17(per 81227): if she had pwiTp from YR, she does n¥’on (just in case — and then can remarry him)

i But if: she had pwymp from 103, no N¥'Yn (as she won’t be able to marry him afterwards)
b.  X27(per X227® 77): in both cases, she must perform n¥»n
i. N227® 15 82227. ®21 had originally forbidden, but the next day he permitted (305 nwx)
1. w237 77 if that continues, he’ll eventually permit 25n

IV. Analysis of " ’7’s position in mwn (allowing ©1»ITIR NN on Nawv)

a.  ~7on ‘1. nmi "1 did not declare ©1)171TIR to be male for all matters

i Argument: if he did, he would have to reckon him as male for 1>y
ii. However: in 8190 (attributed to N1 1) vv. 4-5 teaches that ©117738 and D1wmv have neither M nor F 71y
b.  Support (»7227): from T:n Ma — T "1 explicitly excludes ©117TIR from being able to be nxon " vTPN
c. Question: why does N> 1 make an exception for n>n?
i. Answer: per v. 6 — the word %3 is expansive
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